Rapid Reasoning | Answers Year5 | Week2 | Day5
m m Circle the best estimate for each
A A measurement.

! i Measurement Estimate
I H the h:ight °f | 3 metres 1 metre
n Declan spins the spinner twice and U1 a door
multiplies his two digits together.
He gets the answer 0. hemesto' | s00g | 100g ) 1,000g
Which digit must one of his digits have .
the capacity
been? ofacan 3oml | 3,000ml
of lemonade
0
1 mark
n Katie spins the spinner twice and 1mark m Complete these sentences with the words
multiplies her two digits together. always, sometimes or never.
She doesn’t land on a 0 either time.
Her answer is the same as one of her digits. Muttiplesof 7are . sometimes even.
Which digit must one of the digits have been? Multiples of 12 are never odd.
1 Multiples of 12 are always multiples of 3.
1 mark 2 marks
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Rapid Reasoning | Mark Scheme Year5 | Week2 | Day5

Requirement Mark | Additional guidance
Qla | One of his digitsis 0. 1
Q1b | One of her digitsis 1. 1
Q2 | 2 metres 1
100g
300ml
Q3  sometimes, never, always 2
Award TWO marks for all three correctly completed.
Award ONE mark for two correctly completed.
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